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What are the advantages of farming
system approach over cropping system
approach? Name some important
farming systems.
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What is agricultural extension? Mention
the basic principles. How important is
public-private partnership in
agricultural extension?
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Plan a training programme on
‘mushroom production’ for 20 farm
women for one week. Mention
objectives, work plan, budget and
benefits.
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What is the average productivity of
cereals, pulses, oilseeds and vegetable
crops in Jharkhand?
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Candidates are required to answer five questions in
which Question No. 1 is compulsory
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1. Write short notes (word limit 200 words) on
any four of the following : 10x4=40
Frferf # & frdl e iftm Rwfet R (s
% forg wsg @\ 200 B) :

(@) Rain-fed agriculture
Fui-anfa #iy

(b) Plant nutrient management
URY qiveh ae Vet
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What, in your opinion, should be INM
package for rice, pigeon pea and maize
in Jharkhand? ,
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How can livelihood security for rural
households be ensured? Mention ten
important steps.
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Do you think KVK (Krishi Vigyan
Kendra) and cooperatives can help
farmers in improving productivity and
profitability of Jharkhand agriculture?
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6. Briefly explain any four of the following :

. 10x4=40
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(a) Apiculture
HYAFE -1

(b) Lac cultivation
g Hit gdl

{c) Plant protection anﬁvaoam
gigd 938ur 93

(d) Weather and vegetable production

(e)

(b)
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Hybrid seed production in maize
m ¥ ‘gigsie’ dfiw #1 IR
Distant education in agriculture
FY & @ fan

Describe the structural unit in which
photosynthesis takes place. 20

Tl ,
Differentiate between aerobic
respiration and anaerobic respiration.

Discuss the mechanism of aerobic
respiration in plants. 20
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Candidates are required to answer five questions
in which Question No. 1 is compulsory
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1. Write notes on any four of the following

(within 200 words each) :

10x4=40
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Importance of seed technology
e Mt &1 wea

Research and education in agriculture
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8. (a) Discuss, in brief, integrated pest and
disease management in rice crop. 20
g & gafea e @ U fmw it [3fy & o
% 949 # T R

(b) Name ten fungicides and pesticides with
their active ingredients. 20
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9. (a) Briefly describe the composition of a
horticultural garden. 20

e iR (west) d el F WaT & Fui H|

(b) How are fruits and vegetables important
for nutrition of human beings? Give an
idea of its production vs. consumption
in the State. 10+10=20

fFe TR wa IR dsft AgE F 9w & ol
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10. Give your views on any two of the following :
20x2=40
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(a) Calorie and protein malnutrition
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